
Maths 1st Answer Key 

Unit 2 

Page Instructions Answers 

35 Take the challenge 6, 5, 12 

   

35 Count the cupcakes in each bag. 
Count them to find the total. 

6 

   

36 Add to make the total. Write in letters 
and numbers. 

 3    5  
one two three  two three five 

1 2 3  2 3 5 
       
   6    
  two four six   

  2 4 6   

   

37 Read, draw, count and write. 2 plus 2 is 4 
1 plus 3 is 4 
6 plus 4 is 10 
1 plus 5 is 6 
4 plus 6 is 10 

   

38 Count and write. Then do the math. 1 2 1 2 3 4 5 6  2 + 6 = 8 
              
1 2 3 4 1 2 3 4  4 + 4 = 8 
              
1 2 3 4 5 6 7 8  0 + 8 = 8 
              
1 2 3 1 2 3 4 5  3 + 5 = 8 
              
1 2 3 4 5 1 2 3  5 + 3 = 8 

   

39 Count and write. Then do the math. 1 1 2 3 4 5     1 + 5 = 6 
               
1 2 3 4 1 2 3    4 + 3 = 7 
               
1 2 1 2 3      2 + 3 = 5 
               
1 2 3 1 2 3 4 5 6  3 + 6 = 9 
               
1 2 3 4 5 1     5 + 1 = 6 

   

39 Draw chocolate chips on the cookies 
to illustrate the operations. 

a) 8     b) 6     c) 4     d) 6 
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40 Read and colour. 5 
6 
a) 3     d) 8 
b) 4     e) 10 
c) 5      f) 7 
 

41 Read and use the number line to find 
the answer. 

7 
 

   

41 Use the number lines to answer these 
math questions. 

a) 4      d) 8 
b) 6      e) 8 
c) 9       f) 9 
 

42 Look and draw lines to join each bee 
to the flower with the correct answer. 

1 + 3 = 4 
1 + 1 = 2 
6 + 3 = 9 
7 + 1 = 8 
2 + 5 = 7 
4 + 2 = 6 

   

42 Find the missing numbers. 2  3 
1  4 
2  4 

   

43 Read and complete the math 
statements. Then find the operations 
in the puzzle. 

a) nine 
b) nine 
c) one 
d) six 

e) five 
f) nine 
g) four 
h) eight 

  Line 1 4 + 2 = 6 
Line 2 3 + 2 = 5 
Line 3 1 + 3 = 4 
Line 4 1 + 8 = 9 
Line 5 6 + 3 = 9 
Line 6 3 + 6 = 9 
Line 7 7 + 1 = 8 
Line 8 0 + 1 = 1 

   

44 Read and match the words with the 
definitions. Then number the pictures. 

plus – It is a math symbol that means… 
equals – It is a math symbol that shows… 
total – It is the result of… 
do the math – make calculations 
sign – It is a symbols and it has… 
illustrate – to exemplify a math or word…  

  23  21  24 
22  19  20 
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45 Take the challenge 1) 5 
2) 2 
 

45 Read and look. Then answer the 
questions. 

3 pandas          2 pandas 
3 – 1 is 2 
3 – 1 = 2 
 

46 Read and look. Then count and 
complete the math statements. 

a) 5 
b) 2  
c) 6 

d) 1 
e) 6 
 f) 7 
  

47 Read and look. Then count and cross 
out the balloons that you take away. 

a) 4 
b) 5 
c) 6 
d) 3 
e) 0 
  

48 Read and colour. 3 less than 8 is 5. 
 

48 Use the number track to find the 
answer. 

a) 5 
b) 6 
c) 6 

d) 2 
e) 1 
 f) 7 
 

48 Now count on a number line. 5 less than 8 is 3. 

   

49 Read, count back and draw the 
jumps you make. 

a) 3 
b) 0 
c) 7 
d) 5 
e) 6 
 f) 4 
 

49 Read and illustrate the solution to the 
word problem using the number line. 

4 – 2 = 2 
 
 

50 Look and cross out to match the 
subtractions and write the answers. 

a) 5 
b) 2 
c) 5 
d) 6 
e) 3 
 f) 4 
g) 0 
h) 3 
 

51 Read and complete. Then compare 
the images and find the difference. 
 
 

There are 6 pencils in the orange box. 
There are 4 pencils in the yellow box. 
6 – 4 = 2 
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51-52 Write how many pencils are in each 
box. Then answer the question 
below. 

7 – 4 = 3 
8 – 2 = 6 
6 – 5 = 1 
Note: get students identifying the change 
they have to make for the answer. 
There are by is: 
There is one more in the orange box. 
 
5 – 3 = 2 
 

52 Write how many pencils are in each 
box. Then answer the question 
below. 

6 – 3 = 3 
4 – 1 = 3 
7 – 5 = 2 
 

53 Find the difference between the 
numbers of jelly beans in each row. 

a) 6 
b) 3 
c) 1 
d) 6 
 

54 Read and match the words with the 
definitions. Then number the pictures. 

be left – It is something nobody used. 
minus – It is the word you say when… 
subtract – action of taking away… 
take away – It’s a way to say minus or… 
number line – It is a line with numbers… 
difference – It is the result you get when… 

 

55 Take the challenge 7 
5 
 

55 Use the number lines to help you add 
and subtract. 

3, 6 
 
 

55 Use the number line to answer these. a) 10 
b) 2 
c) 4 

d) 1 
e) 9 
 f) 8 

g) 10 
h) 7 
 i) 1 
 

56 Use the number line to answer these. 7, 6, 8, 4, 3 
 

57 Use the trios to complete these 
additions and subtractions. 

a) 8 + 1 = 9 
 1 + 8 = 9 
 9 - 8 = 1 
 9 - 1 = 8 
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  b) 3 + 1 = 4 
 1 + 3 = 4 
 4 - 1 = 3 
 4 - 3 = 1 
      

c) 6 + 2 = 8 
 2 + 6 = 8 
 8 - 6 = 2 
 8 - 2 = 6 

 

57 Complete these additions and 
subtractions. Then write the trios. 

a 4 
5 
5 
4 

b 3 
3 
4 
3 

  9,5,4 7,4,3 
 

58 Colour to match additions and 
subtractions from the same trio. 

7 – 3 = 4     3 + 4 = 7 
6 – 5 = 1     1 + 5 = 6 
6 – 1 = 5     5 + 1 = 6 
7 – 4 = 3     4 + 3 = 7 
 

58 Complete the number chain. 4 4 2 
5 5 2 
6 6 6 
 3 8 

 

59 Colour the fish you need to 
complete these additions and 
subtractions. 

7 
9 
9 
6 
4 
7 
 

60 Write the missing numbers. 6 – 4 = 2     6 – 2 = 4 
4 + 2 = 6     2 + 4 = 6 
 
9 – 1 = 8     9 – 8 = 1 
8 + 1 = 9     1 + 8 = 9 
 
10 – 5 = 5    10 – 5 = 5 
5 + 5 = 10     5 + 5 = 10 
 

60 Read, look and write the missing 
number. 
 
 
 
 

6, 8, 4 
9, 7, 3 
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61 Write the missing numbers.  
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

5 + 3 = 8  3 + 2 = 5  6 + 2 = 8    

  +  +  +      =    +    

  3  1 + 4 = 5    2  2 + 2 = 4  

  =  =  =  +    +    =  +  

  6  9  7  1 + 3 = 4    10  3  

        =          =  

2 + 1 = 3    6 + 2 = 8      7  

    +    +    +        

1 + 1 = 2    3    1 + 5 = 6    

    =    =    =        

    5 + 4 = 9    9 + 1 = 10    

 

61 

 

Write the missing numbers.  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

6 - 1 = 5      8 - 4 = 4  9    

    -      -  -  -  -    

    1 - 1 = 0  1  2  3 - 1 = 2  

    =      =  =  =  =  -  

9 - 5 = 4 - 2 = 2  7  2  1  8  0  

-        -  -      -  =  

3 - 2 = 1    1  6 - 5 = 1  5  2  

=        =  =      =    

6 - 3 = 3    1 - 1 = 0    3    
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62 Write the missing numbers.  
 

 9 - 3 = 6    6 - 5 = 1        

    +        +        

    1        3      1  

    =        =      =  

    7 - 5 = 2    4 - 3 = 1  8  

    +    +        +  -  

2 + 1 = 3    4  5  8  6 + 3 = 9  

    =    =  -  +    =    

5 + 5 = 10    6 - 4 = 2    4    

  -        =  =        

  3    7 - 6 = 1  10 - 5 = 5    

  =                  

  2 + 7 = 9      5 - 2 = 3  5  

    +        =      =  

    3 + 5 = 8    3      5  

    =    -    +      +  

    10    6 - 4 = 2  10 - 10 = 0  

        =    +    =    

5 + 4 = 9 - 7 = 2    7  9 - 4 = 5  

    -        =    +  +  

  5 + 3 = 8      9 - 3 = 6  3  

    =              =  

    6 + 2 = 8      10 - 2 = 8  
 

 

63 

 

Read and match the words with the definitions. 

Then number the pictures. 

 

trio – It is a groups of three… 

set – a group pf similar… 

check – to look and tell that something… 

complete – to finish doing… 

number chain – It is a line of numbers. 

puzzle – a game – you have to discover… 

  33 35 32 

36 31 34 

 


